6-3 Verbal Problems Involving Ratio
(pages 215-216)

Writing About Mathematics

1. If x = 0, 2x : 3x cannot be reduced to 2 : 3 because
division by 0 i1s undefined. Also, 2x : 3x would
equal 0 : 0, which 1s not equivalent to 2 : 3.

2. No.The perimeter of a rectangle 1s twice its length
plus twice its width: 2(7x) + 2(4x) = 22x. Therefore
the ratio of the length to the perimeter is 7 : 22.

Developing Skills

3. 40,30 4. 100,60

S. 42,30 6. 48,12

7. 12cm, 12 cm, 10 cm 8. 12¢em, 16 ecm, 20 ecm
9. 132 cm, 48 cm 10. 36°,54°

11. 80°,100° 12. 40°,40°, 100°

13. 25in.,251n.. 15 1n. 14. 9,21

15. 12,20

Applying Skills

16. 12 cm, 20 cm 17. 275 boys

18. Carl. $70; Donald. $30
19. Sam, 21 points; Wilbur, 27 points
20. 7.5 liters of water. 5 liters of acid



